-

. AABC ¥ » & sv/A=30° » /C=105* BC=+2 %:

(1) AC= ®) » (2) AABC #7325 # & @
Lo P B G (460 | RIPEGE ABEE ® P F QEhshiE i 4R 5 [ 3,240° | RI PQ=

. AMABC*¥ » AB=5:2 s D%BC_}-2% AD=4+BD=6 -CD=2" £AC=

@

- E R

- =X
gl - S B - BE @ % i FL
N T e g age ) i
~ kLR
WA D 55 R SRR CITITE PP :
WA ARSE T IT 1 COSA= >4, sin(90° +6) =
. €0s(180° +0)= °
\iﬁ_?‘u%:
LR 3880 ik RS A S @ » 3880 T e % L L F @ B P E o
. AABC = B~ %5 AB=8+ AC=3+BC=7 > &
(1) AABC 5 fi = ® © (2) AABC 12 2 5 @ ’
(B) LA A # s o
o FRT A NeE (1) sin315°= ® ’
(2) sin120° cos150° —co0s225°sin315°= @ °
L EKOEF e %4 ¥ PB,-6) mhenikiE > Pl (1) sind= » (2) tan@= @
sin9:%£ 0% % - %4 » £ cos@= @) °
. AABC*# > AB=15+ AC=7" ZA=60" >+ % :
(1) AABC i #t % @) » (2) BC= @)

@

W-o#g Pl x 2 F



R 102 % & & = =X - W ,
[ - . gy ¢ & B BEFsx8) P LA D - &ML
- 8 Hp ]
i B e
S N HREAR (K24 £ 104)
Eal=S UL i L °
EESUSAE B °
. RACEARTE T IR L cOSA= o
. sin(90° + @) = > 5. cos(180" +6)=
-~ E LA
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
10 20 30 36 42 48 54 60 64 68 72 76 79 82 85 88 90
® ® ® @ _ ®
280° 4 63 6‘/73 60°
® _ ) ® _
S E: 3 =3 R
2 4 5 4 4
@ @ @ @
# 13 2 o1 2,243)
@
7 J29

o5 P2 %2 2 F




